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1) The Atrai flows through district of Bangladesh.
1) Dinajpur
2) Dhaka
3) Sylhet
v 4) Bogra
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2) Over 90% of Bangladesh is on average what height above sea level?

1
2
v 3
4

50 meters
30 meters
10 meters
20 meters
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18) Choose the appropriate reporting speech, Sara, ?
1) I will like the new movie
v 2) | will certainly help you tomorrow
3) | will definitely dream about you tonight
4) | will win the lottery and share money with you

NN : Reported verb 5@ promise APIS @RI I @ reported speech- amT
PR @RI F 105 ARG 1 @ | will certainly help you tomorrow R 581 |
TR O TN (ST STAPT TP SRR PR |

OTRG] QAT JRPSCET KT ORIPIK 2P 7] T |

19) Identify the correct spelling

1) Questionaire
v 2) Questionnaire

3) Questionair

4) Questionnari

I : Questionnaire (noun):

Meaning: A set of printed or written questions with a choice of answers,
devised for the purposes of a survey or statistical study.

Bengali meaning: 2RIR ; FOTT0 QIR SIS 200 LRI |

5338 Oxford and Bangla Academy Dictionary.

20) Which one is not the meaning of Tender?

1) A rate chart
2) young



v 3) right on properties
4) consecrate

A : Tender (adjective):

Meaning: Showing gentleness, kindness/Young, inexperienced

Synonym: compassionate, caring, kind, kindly, kind-hearted etc.
a3 Oxford Dictionary

21) His friend __ his word much to his despair

v 1) went back on
2) went away from
3) went with
4) went in

T - Go back on (phrasal word):
Meaning: Fail to keep a promise.

QAT went back I o208

WAPDT TP T3 O IF ARRPRG ST I |

g8 Oxford Dictionary.

22) Savior is always better than

v 1) Destroyer
2) redeemer
3) Executioner
4) Torturer

AT : Savior: TFIFG! ; AIRPVT 5 DERD
Destroyer: PRI
3 7D 2RI RIS <19 |
YT, <31 Destroyer IS AP0 W27 |
M0 T4, Savior is always better than the destroyer.
SIS RS DY -
Executioner = SRPIR TroF I1 GEM |
Torturer = ASIHRI |
g3 AT APTGA! AN |

23) Choose the appropriate reporting verb, She (said) that | should take a
holiday.

1) Informed



v 2) advised
3) told
4) requested

14T : That - 43 #/ | should take a holiday U™ QRMTT @, I PT =R Advise 1
suggest I5KJ | @ddl, advise/suggest <= AT KT APPT IR that U< #[ 'should
module verb-b Iz 21|

24) He has gone to dogs IR0 YT WGI™ el

1) O ATSIEAT PP LRD

2) ORI FIT YR A2
v 3) T TERT (51—

4) (51 QYq TTTST |

T : Go to the dogs (Phrase):

English Meaning: Deteriorate shockingly.
Bangla Meaning: (STTER INGAT , SIS 2337 |
. MG JIRPYDA WY RO - G (ST (SR |

25) A —- makes no differeence between man and man in spreading his love

1
2
3
v 4

philander
philistine
philosopher
philanthropist

N— N N N

4 : Philanthropist (noun):

Bengali meaning: 1d@ ¥ (@1d (SAICSR Y d1 1R KK Sd) T[ SICETRTAT IR
RPIcelfP | Synonym: humanitarian, patron, patroness, donor, contributor,
giver, sponsor, backer, helper, altruist, good Samaritan

Antonym: Self - seeking, self - indulgent

The meaning of other words:

Philander: 21 ©IR (ACHK 57916 BT91d I |

Philistine: 5135 RafEo wmtey 199 |

53a8 Oxford Dictionary.

26) Complete shutdown (be) observed today against new law.

v 1) is being
2) can be
3) is been



4) was been

14T : Today VRIS QIR IRPID TRT ATTO 02 IFd sense AP P I present
continuous tense \3 passive voice -9 XJ|

OIS, is being &P B6d XA |

Can be - 533 passive structure ZTeN\3 PR W FCY SRS T T |

is been \3 was been 35w passive structure @I

27) The judge decided to exonerate the accuse. This bold faced word
means----

AT : Exonerate (verb):
Meaning: (of an official body) absolve (someone) from blame for a fault or
wrongdoing; Release someone from (a duty or obligation).
Bengali meaning: (Tifssi I0) e 6o
Acquit (verb):
English meaning: Free (someone) from a criminal charge by a verdict of not
guilty.
Bengali Meaning: fati I0eT AT GG , AT CISTT , WIRSCTT5T (AP TRNRRG CI\3aTT |
. 93 7f > FALF |
a3 Oxford Dictionary \3 I1:&1 QPTG AR

28) ‘Deciduous’ trees are trees that -

vl
2
3
4

loss the leaves annually
are extreamly big

have small leaves

have fleshy leaves

S~— N N N

T : Deciduous (adjective):
Meaning: (of a tree or shrub) shedding its leaves annually.
Bengali meaning: “IoCamb! , QfSTaTE , R ,

g8 Oxford Dictionary.

29) Technology has developed great speed.

1) on



74T : At great speed (very fast) = 59 st |
Source: Cambridge Dictionary

30) Asma jahangir is a renowed ___ activist

v 1) human rights
2) animal rights
3) political rights

4) legal rights

I : Asma Jahangir (1952-2018) was Pakistan’s leading human rights
lawyer. For three decades, she showed incredible courage in defending the
most vulnerable Pakistanis women, children, religious minorities and the
poor.

Source: The Right Livelihood Foundation.

31) Choose the best translation of ST 2131 52 BTG |

1
v 2
3
4

The rain fell in torrents

It was drizzling with gusty wind
It was raining cats and dogs
The rain came down in torrent

~— N N

AN = ACTT ST 52 -9 3E@K with gusty wind | OTZ0T in torrents W3R cats and
dogs WY I |
Source: IS QAITG T TS|

32) Change the voice : can you help me to scoop out seeds from melon ? ans
: to scoop out the seeds from the melon ?

v
2
3
4

can | be helped by you
can | helped by you
could by helped by you
can i been helped by you

~— N N S

A : Modal auxiliary verb T& interrogative I passive structure X modal
auxiliary + obj. @ sub + be + verb - Y9I P.P + by + sub - (& obj|

ST B can you help me LA passive voice, can | be helped by you.
Source: Cliff's TOEFL.



33) A sedentary worker requires more calories than a one.

1
v 2
3
4

Trained
mobile
secondary
laborious

~— N N S

4 : Sedentary (adjective):

(of a person) tending to spend much time seated; somewhat inactive.
Bengali meaning: e Wip12x1 57 IR W1RACs o3|

IR Y TGFAH, AU 273 AFTASER T, mobile - =10 Sedentary R RO
W 329 I | Mobile = 568 ; AT , GOTd , bietge ; SO , OERA |

o123 U XA T SROA @R SN |

ISP,

stationary = 37, {91 , TG

laborious = T ; AFROSPH

34) The idiom to show the white feather means---

1) To act like a gentleman
2) to act like a hero

v 3) to act like a coward
4) to act like a deuvil

4 : To show the white feather (idioms):

Meaning: behave in a cowardly fashion.

Example: He showed the white feather and ordered a general retreat.
18 Oxford Dictionary.

35) Chip is a common nickname for a (n) -

1) Transistor
2) resistor

v 3) integrated circuit
4) semiconductor

I : An integrated circuit (IC), also known as a microchip or chip, is a small
electronic device made up of multiple interconnected electronic components,
such as transistors, resistors, capacitors, and diodes, fabricated on a single
semiconductor material, typically silicon. These components are etched or
deposited onto a thin wafer of semiconductor material, which is usually
silicon.



Integrated circuits revolutionized the field of electronics by enabling
miniaturization and increased functionality. They are the building blocks of
modern electronic devices, ranging from simple consumer electronics to
complex computer systems.

There are different types of integrated circuits, including:

Digital Integrated Circuits: These circuits are designed to process and
manipulate digital signals using logic gates, flip-flops, and other digital
components. Digital ICs are widely used in computers, microcontrollers,
smartphones, and various digital systems.

Analog Integrated Circuits: Analog ICs are designed to process and
manipulate continuous analog signals. They are used in applications such as
amplifiers, filters, data converters, and signal conditioning circuits.

Mixed-Signal Integrated Circuits: These circuits combine both digital and
analog circuitry on the same chip. They are commonly found in devices that
interface between the digital and analog domains, such as analog-to-digital
converters (ADCs) and digital-to-analog converters (DACs).

36) An electronic path, that sends signals from one part of computer to
another is a

1
2
v 3
4

logic gate
modem
bus

serial port

~— N N S

T : Bus:

An electronic path, that sends signals from one part of computer to another.
A bus is a communication system that transfers the data between two
computers or the parts of a computer.

Each bus has a certain size, measured in bits (such as 32-bit or 64-bit)

37) The dimensions of a box are 2,3 and 4 meters . the cost of painting the
outer sides of the box at the rate of tk. 3 per square meteris

v 1) Tk. 156



2) Tk. 120
3) Tk. 136
4) Tk. 160

QAT : T S,

IRR GAROER CFaTe = 2(ab + be + ca)
=2(2Xx3+3x%x4+4x2)

= 52 I5f0R

.. (30 AR = 52 x 3 = 156

38) Russia president vlasimir putin recently elected president for the -

1) 2nd time
2) 3rd time
v 3) 4th time
4) 5th time

AT 2 305k S WGF® AIRAR ARG /b Sy fod bo A& T0 (ABGT
focifow 241

39) According to global firepower index 2017 the place of india is in -

4T : The Global Firepower Index indicates that China holds the third position
in terms of air power, boasting a fleet of 3,284 aircraft, whereas India ranks
fourth with 2,210 aircraft.

40) A median of a triangle divides it into two ____

1
v 2
3
4

congruent triangles
triangles of equal area
Isosceles triangle
Right triangle

S~— N N N

AT : faTSroR QT F45a1 oS 91 Crasaire 7t oo Row 36 |

41) The host city of the 21st commonwealth games -2018 is

1) Brisbane



v 2) gold cost
3) gladstone
4) darwin

T 2 305b FER PHNII (ST WG RIK PG (5T (PIL' XX W00 AT |
033 STCER 330 FHANI (STHHN THICOH IR WO X | FHNIY (ST

\3CIIIZE |

42) The leatest number state of NATO is

1) Albania

v 2) Montenegro
3) Croatia
4) romania

4T : The latest number state of NATO is North Macedonia (2020).

It is the 30th member of NATO.

Prior to that, Montenegro was the 29th member. It became a member of
NATO in 2017.

43) If the length of rectangle B and the width of rectangle A is one-half the
width of rectangle B, what is the ratio of the area of rectangle A to the area
of rectangle B?

v1)1/4
2)1/2
3)1/3
4) 2/1

AT : 4K, B 7 07 X QP R A y AT
SA GO (1/2)x AP Q3L (1/2)y 9P

B W< CHFAP xy I5(Q9FP

A 93 CFaPE (1/2 x X 1/2 y) ISP

= xy/4 I
“. A:B = xy/4:xy
=1:4

- A/B =1/4

44) One of the official languages of the organization of islamic cooperation
(OI1Q) IS

v 1) Franch



2) spanish
3) russian
4) chinese

4 : one of the official languages of the organization of Islamic cooperation
(OIC) is the French language. OIC ( organization of Islamic cooperation) has 3
official languages.

English, Arabic and French.

Source: OIC.

45) In each expression below , N represents a negative integer . Which
expression could have a negative value?

1

N(square)
2) 6

-N
-N
6+N

W

)
)
)
)

v

I

T - RIRY,

N AdTEP 2T |
g, N = -7

2 (N)2 = (-7)2 = 49
6-N=6-(-7)=13
-N=-(-7)=7
6+N=6+(-7)=-1
56 + N A3 J1F JqTED |

46) National voters day of bangladesh is observed on

1) april 4
v 2) march 1
3) october 1
4) september 10

Iy : National voters day of Bangladesh is observed on March 1. Source:
Bangladesh election commission.

47) The day after the day after tomorrow is 5 days before Monday. What day
is it today?

v 1) Monday
2) Tuesday
3) Wednesday



4) Thursday

1 -

1 (4th) t(3rd) 1t (2nd) 1t (1st) t
Today Tomorrow Day after Tomorrow
Day after the Fri Sat Sun
. Monday
R Mon Tue Wed
day after tomorrow
Thursday
1R TS TS|

48) If the langth of a rectangle is increased by 20% and width is decreased by
20% what is the change in area of rectangle ?

vl
2
3
4

decreased by 4%
increases by 4%
increases by 5%
unchanged

N— N N

AT : CFAT ARG 2K 20 + (- 20) + {20 x (-20)/100}
=-4%
Ay BF (-)ve, GTTY CFaP 4% IS (TR |

49) If p is defined for all positive real numbers a and b by apb = ab/(a+b),
then 10p2 =7

v 1)5/3
2) 5/2
3)5
4) 20/3

Y : ARY apb = ab/(a + b)
5 10p2 = (10 x 2)/(10 + 2)
= 20/12

=5/3

50) Two people are born at the same moment, but they don’t have the same
birthdays. Because they might be born in different_

1) centuries
2) culture



v 3) countries
4) casts

AT - Two people are born at the same moment, but they don't have the
same birthdays.

Because they might be born in different countries.

They are born in different places, in different time zones.

51) Which of the following can be arranged into a 5-letter English word? a.
HRGST b. RILSA c. TOOMT d. WQRGS

AT : b & C - IR ITKED TS 51100 <15 75 TIAECE LIRAS (903K F41) 3 MOTTO |
b- A3 AT LIARS (farawmt) *=ifD\s «maar ImT)

52) Which number logically follows the sequence 74696 146 ........

1)6
2) 17
v 3)19
4) 21
JAT:4696146.......

AT, 3T, 8%, U, b ......... Bonfr wrEd e e 6 Ruvard
ORI SR K18 4 9 14 19

AAPIZ555

o1 fe 5D X 14 + 5 = 19.

53) How many integers from 1 to 1000 are divisible by 30 but not by 16 ?

v 1)29
2) 31
3) 32
4) 38

TN : QUTCH,

30 7K1 erey 547 = 1000/30

VISP 33 Q<R O 10

SOA1R 30 RT [Kerey 124 = 33 o



30316 Y9, AT, 8 =240

QT 1000/240 =ST5TPE 4 IR TSI 40

.30 \3 16 7K1 Rorey sy = 4 O

SJOA1R, (33 - 4) = 29 b 5747 30 71 Korey g 16 711 [ierey |

54) My successors father is my fathers son and | dont have any brothers or
sons. Who is my successor?

1) Nephew
2) Niece

v 3) Daughter
4) Myself

AT : WA GG IR LT WK IR 2 |
TR (T SR 13|

SOA1R W AR I_K QFHE 9 |

Qd, BGPTSR T3 |

AZD TR 9@ @3, T AR 3T |

55)A  isasetofrules.

1) network

2) domain

3) hypertext
v 4) protocol

I : A protocol is a standard set of rules
that allow electronic devices to communicate with each other. Network:
A network consists of multiple devices that communicate with one another.

56) In a row in the theatre the seats are numbered consecutively from T1 to
T50. Sumon is sitting in seats T17 and Shajib are sitting in seat T39. How
many seats are there between them?

1) 23
v 2)21
3) 22
4) 20

YT : O TR 50 51N = (39 -17) -1
=22-1)
=21



57) Siddik have a new set of golf clubs. Using a club 8, 7 and 6 the ball
travels an average distance of distance of 100m, 108m, 114m respectively.
How far will the ball go if he uses a club 57

1) 122m
2) 120m
v 3) 118m
4) 166m

2T,

RO gigTe 100m 108m 114m 118m
ATAFTS 8m 6m 4m
ed1e 3% Ted 118m

58) QWERTY is used with reference to

1) Monitor
2) Printer
v 3) Keyboard
4) mouse

M4 : QWERTY is used with reference to Keyboard. fFCOIeR s Cmetst foceta
AR B8RP ’fd QWERTY FIRTE WRFH IR |

59) How many cases do you need if you have to pack 112 pairs of shoes into
cases that each hold 28 shoes?

A : 9T,
28 0 Tl = 14 (&l Trol
- QIRKT (Case) A X = 112/14 =8

60) The name of the passenger train runs between Kolkata and khulna is

1) shouhardo
v 2) bandhon
3) mukti
4) progoti



A : The name of the passenger train runs between Kolkata and Khulna is
Bandhan Express. The Bandhan Express train is an international express rail
service which runs between the Indian city of Kolkata and the Bangladeshi
city of Khulna every week. It is the second modern-day, fully air-conditioned
passenger train link between the Indian state of West Bengal and
Bangladesh.

Source: Bangladesh Railway.

61) Materials for rain proof coats and tents owe their water proof properties
to

vl
2
3
4

surface tension
specific gravity
viscosity
elasticity

N— N N N

JMAT : Rain-proof GPIb I1 B (O] Gief) (T SPeT PI91G T AAfeTeI] I8 I]IT0 2 Ol
surface tension 31 9T YK PR R CPIBT (PTG AT ORK OO 2R PO AT T |
CFCa (TG AT ORI 2RO i (e @

62) At the end of a banquet 10 people shake hands with each other. How
many handshakes will there be in total?

1) 90

2) 100
v 3) 45

4) 20

14 : Total Handshake = 19C, = 10!/ 21(10-2)! = (10x9x8!)/(2!x8!) = (10
x9)/2 = 45

63) Bangladesh bank recently announced a new CRR to increase the flow of
money by a in the money market .

v 1) 10000 crore
2) 12000 crore
3) 15000 crore
4) 16000 crore

I : Bangladesh bank recently announced a new CRR to increase the flow
of money by a 10,000 crore in the money market. The experts noted that the
decision to cut the cash reserve requirement by 1 percentage point would
increase the flow of money by Tk 10,000 crore in the money market and



would have multiplying impacts.
Source: Bangladesh Bank

64) Software, such as viruses, worms and Trojan horses, that has a malicious
intent is known as -

1
2
3

va

Spyware
adware
spam
malware

~— N N S

A : The term malware refers to software that damages devices, steals
data, and causes chaos. There are many types of malware — viruses,
Trojans, spyware, ransomware, and more. Source: AVG

65) log36/log6 = ?
1)5

N

w
N W

v

o

4 = log36/log6
= log 62/log6

= 2.log6/log6
=2

66) The year 2019 will mark the 100 years since the peace treaty of -

1
2
v 3
4

vienna
yalta
versalillies
helsinki

~— N S S

4 : The year 2019 will mark the 100 years since the peace treaty of
Versailles. The Treaty of Versailles, signed in June 1919 at the Palace of
Versailles in Paris at the end of World war |, codified peace terms between
the victorious Allies and Germany.

Source: History.

67) are used to identify a user who returns to a website.

v 1) Cookies



2) Plugins
3) Scripts
4) ASPS

T - Cookies are used to identify a user who returns to a website.

A cookie is used to remember settings from your last visit to a website.

For example, Amazon uses cookies to help identify you when you revisit the
site.

68) In a crime, three suspects X, Y, and Z were caught and questione, Each
person said, One of the other two stole it | did not do it later on the police
found out that Z was lying and there was only one thief. Who was the thief?

1

N

X
Y
v Z

W

)
)
)
)

4) someone else

AT 1 QAE, AP S TRAP GTR IS | QARG Z /A AT IR 93 GTR QPSR
OB Z T AP0 GH |

69) The best picture winning in the 90th academy award is -

1
v 2
3
4

Darkest hour

The shape of water
Dunkirk

Lady bird

~— N N

The Shape of Water

90th Academy Awards
Best Picture The Shape of Water
Most awards The Shape of Water (4)
Most nominations The Shape of Water (13)

TV in the United States



70) The first post liberation war sculpture in Bangladesh is

1) Shongshoptok
2) aparajeyo bangla
v 3) Jagroto chowrongi
4) Shoparjito shadhinota

AN = AR T2 FEYEA THAVT WHP ST A TS0 GIR5N FRFYEA SPAKE d»ad
SIS Yo OT JT6 ST SRADG AU 57T ARKITY TRATII GOAR TCED \3 ¥R TS
TR T XTIMCR WA [Aeho T TS GIRBA | 5708 IIREATT SR O ITORE |

71) A set of step by step procedures for accomplishing a task is known as a
(n)

v 1) algorithm
2) hardware
3) firmware

4) application

AT : A set of step -by-step procedures for accomplishing a task is known as
a "algorithm". An algorithm is a set of instructions designed to perform a
specific task. The word "algorithm" comes from the name of an eighth
century Arab mathematician, al Khuwarismi.

72) If SinA+sin2A = 1 then the value of the expression cos?A + cos?A is

v11

2

(V)

)
)
) 2
)3

I

SinA + SinA =1

= SinA =1 - Sin’A

IIAT 2] . Cos?A = SinA

92 Cos*A = Sin?A

. Cos?A + Cos*A = SinA + Sin’A =1

73) How many full adders are needed to add two 4 bit numbers with a
parallel adder ?

1)8
v2)4
3) 2



4) 16

AT : SITRIAT IRATR TIGTRA CHA 73f0 N FAP RCG IBATR ST Q57 AR ey -
(i) N SFRUTE PA-TMTOTR AT KT,

(i) 90 TT-VOTGR \3 (N - 5T PoT WIGR 2AATSA |

ACT TACO ST TZ, TR JMRATR TIGIEA 5370 8 RICTI ARATR HLAT (@157 AR Ty
IO PA-TMTOTI ATSA?

= O 53 B6d X1 810 |

74) The motion picture titled “theory of everything ” is based on the life of

1
2
v 3
4

Albert einstein
Isaac network
stephen hawking
steve jobs

~— N N N

A : The motion picture titled "Theory of Everything " is based on the life of
Stephen Hawking.

Director: James Marsh.

Source: Imdb

75) The study and treatment of mental illness.

v 1) Psychiatry
2) psycholinguistics
3) psychology

4) psychics

A : Psychiatry:

Meaning: The study and treatment of mental illness, emotional disturbance,
and abnormal behavior. Bangla Meaning: S1dRRe QISR “AEM \3 BPesT |
AR

76) A person who wants to increase the level of good cholesterol in his body
should

1) Take vitamins
2) eat green leafy vegetables
3) sleep sufficiently

v 4) take omega-3 fatty acids



4T : High-density lipoprotein (HDL) cholesterol is known as the "good"
cholesterol because it helps remove other forms of cholesterol from your
bloodstream.

Omega -3 fatty acids increase HDL and decrease LDL (Low Density Lipo -
protein).

Source: National Library Of Medicine.

77) The international body of UN which gives the trasformation from LDC to
developing countries -

v 1) committee for development policy
2) committee for develioping policy
3) committee for national development policy
4) committee for international development policy

A : The international body of UN, CDP (Committee for Development Policy)
which gives the transformation from LDC to developing countries

The CDP measures the LDC categories on the basis of per capita income, a
human assets index, and an economic vulnerability index.

A country must exceed thresholds on two of the three criteria at two
consecutive triennial reviews to be considered for graduation.

Source: United Nations.

78) If 6121135 represents fame then 21215120 represents -

1) Voice
2) bald
v 3) bloat

4) castle

Tz In Flame

F=6,l=12,a=1, m=13,e=5
Then,2=Db,12=1,15=0,1=a,20=t
= bloat

79) The eighth division of bangladesh is -

1) Rangpur
2) comilla
3) Barishal
v 4) Mymensingh



4 : The eighth division of Bangladesh is Mymensingh.

On 12 January 2015 prime minister Sheikh Hasina declared the
establishment of a new Mymensingh Division

The eight divisions of Bangladesh are:

Dhaka Division

Chittagong Division

Rajshahi Division

Khulna Division

Barisal Division

Sylhet Division

Rangpur Division

Mymensingh Division

Please note that administrative divisions can change over time, so it's always
good to verify the information with up-to-date sources.

80) If 1-2x < 3, then __

|

w N

X X X X
IV IA VI
e NN

AN
I

qeT:1-2x <3
=1-2x-1=3-1
=-2X < -2

= -2X/2 = 2/-2 [-2 T OI51 ]
X =-1

T IR 2Td TR 2RPFT Fd 271t Rfsrast acsr Qs a3 fits fSfat Fas live.hellobcs.com
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